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All questions are compulsory.

Question Nos. 1 to 5 are of

MLliliplL’ Choice ‘:_‘n.'{_'n*_

Question Nos. 6 to 10 are of Very
Short Answer type. Their
answers are to be given in about
10 words ( one sentence ) each.

Question Nos. 11 to 15 are of
Short  Answer  type. Their
answers are to be given in about
20 words each.
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v)  Question Nos. 16 to 18 are to be
answered in about 150 words
each.

vi) Question Nos. 19 to 21 are of
Long Answer type. Their answers
are to be given 1n about
300 words each.

vil) Allotted marks of all the
questions are given against each
of them.
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3. How many judges can be appointed in S.  Which amongst the following Countriey ;
£5 18

Supreme Court of India in addition to not the member of 'SAARC'

Chief Justice ?
al] Bangladesh

g 15 -
) b)  Pakistan
b) 30 c)  Sri Lanka
c) 31 d}] Mvyvanmai 1
d)  21. L
) ( AT o7 999 U597 )
4.  What do vou mean bv cold war ? i
o ( Very Short Answer Type Questions )
a) War with light weapons
6. Hifa s = a9 [ w3 e ue
b} War among cold countries 3 . .
) © AT & T ST Y29 27ed T 2 B 7 %+%
c) War of ideologies 6. B .
Y replacing  which institution, NITI
Aa
d} None of these. 1 YO8 was cstablished ? Who is its
ex- : :
officio chairman 1,1
Turn over 2 2
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Name any two umon territories of Indian

. 4 .

Union. L4l
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Name any two states which have bi-

cameral legislatures. =+
MY GG F FE g1 Hd FAEA 1,1
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Mention anv two funcuons of Gram

Panchavyat.
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What do you mean by unipolar system ?

Which country has become more

' ' ‘ 1,1
dominant in this system ? s
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Mention any four functions of the
Speaker of Vidhan Sabha LiylLli
I ERGIE R IR T A4 (- A
:IJI'I'T:# Ir! ;‘!:.:rf?l';j : : i 1
Mention any two functions of Union

Public Service Comimissinn. 1+1
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How is State Council of Ministers

formed ? 2
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14. Evaluate main functions of Election

Commission of India. 2

15, ‘O W TEel = Tagr & e

Tz : Uvd WEN 169 18 d% & U F I ATw
AT 150 Vit | fot@n |

Note : Question Nos. 16 to 18 are 10 be

answered in about 150 words each.
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16. What is meant by 'Detente’ ? What was

its effect on International Politics 2 2 + 2

17. 37 Weeeul HeArst & faveny sifau fae
g mewIRl & i Wie-gg ol w9 fean 4

17. Analyse those important events which
led to cold war between two super
powers. 4

18, THEH @i agerdl I und & O e un
AT T 3eeRg RITAT | L+ 1+1+1

18. Mention any four benefits which India
derives  from  the membership of

Common-wealth 2 1+ 1+1+1
( e sEEE T )

( Long Answer Type Questions )
19. TTE ¥ aifwwr vd @Rt w6 fergd @oM
hiform | 6
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i N 20. Explain in detail the organisation &
gl | 6 powers of the Supreme Court in India.
0 pescribe  the rights & functions of 3+3
Governor in detail. 6 OR
OR Evaluate the role & relevance of NITI
Aayog in the development of India. 6
Describe mutual relationship between
. 21, W GRWE FH WA @ FHEEs Hitw
gtate  Council  of  Mimsters & il

Legislature ? 6 _ I@ﬁ i 11"{&“ i
T T Bl AFAT & FRON F Ioong AT |
0 wEre S e T SRR
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2.

15

pescribe the organisation of Security
Cquncil and also give reasons for failure
of Security Council & United Nations
Organisations i maintaining  world
peace ? 2+4
OR
What do vou mean by 'SAARC ?
Describe the role of India in this

organisation. 2+4
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